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NhUUULY 4Urah
Owé- Pnthp, Cunniubiniypjw puunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dJwutiwghwnieyniup dpgnipwh ny Ungniewjht jwdswp(wn pYnw | Yéwpndh | updp
ng ii ‘Umm. us hwq. n
01 (Gpbwup wEwnmwlywu hwdwuwpwu
001 Ywpebdwunhlw U(q) b(q) <a(q)* 28 400
002 Utuwuhlw U(q) b(q) <a(q)* 25 400
006 Mphpwnwlywu Jwpebdwwnphyw W $hghlw d(q) U(g) g(aq)* 4 400
007 [Bhahljuw @ | Ul <alay 37 400
008 NUheonwywjhu nkwlywmnpubph $hghlyw b(qg) U(g) g(aq)* 4 400
009 [Mtwnhndhghyw U EGYwpnuplw b(qg) U(g) g(aq)* 26 400
010 Mpuwhwnnpnhsubph $hghlw W dhypnkEYnpnupyw b(qg) U(g) <|g(a)* 14 400
011 Kbnwhwnnpnwygnieiniu b wgnwupwuubph dowynwd D(q) U(g) a(q)* 6 400
012 [Phdhw £(q) Y(q)** Yud {a(q)* 22 400
d(g)™
013 Eyninghwlwu phdhw £(q) Y(g)** Ywd g(aq)* 29 400
d(g)™
014 [tEnwghwnieniu £(q) YU(q) Ywd a(q)* 13 500
(q)
015 MGUUwpwUNYE)NLU U(q) £(q) Ywd <ja(q)* 4 400
$(q)
018 Mbuuwhudbnpdwnhlw Y(q) U(g) b(q) {a(q)* 5 400
019 Bpypwpwunye)nLu U(g) S(g)** g(aq)* 13 400
021 Rpwonbpuniewpwunte|niu U(qg) U(g)*™* a(q)* 2 400
040 fwpguwuswlwu gnpd' nniwg U hwjbinbu (Ggniubip MH(q) {a(q) Owy(q) 9 400
041 [Mnwwg [Ggnt b gpwlwunipiniu Mha(p) MH(q) {g(q) 13 400




Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp

ng ii ‘Umm. us hwq. n

01 (Gpbwup wEwnmwlywu hwdwuwpwu
044 (bpwuubinbu (Ggnt b gpwlwunip)niu dni(p) dni(q) <la(q) 18 500
048 Kniuwnbu [tgnt b gpwlwunipiniu MH(q) <la(q) Owy(q) 17 400
050 fwpquwuswlwu gnpd' gbipdwubipbiu W hwjtinbu (Ggniutip J(p) J(q) {19(q) 13 500
051 [Fwpgdwuswlwu gnpd’ dpwuubpbu b hwybpbu |Ggniubp Sni(p) dni(g) {g(g) 3 500
059 [pytintgwpwunip)ntu <dM(q) {19(q) Ow|(q)* 5 400

/ Gktuwhudnpiuwnpljur» dwubwghwunnipyub ghunppubtpht hpwyniup b Epuwywhynud hpbug punpnipjudp hwidub] iodws Eptip' «Gktuwpwunipniy, «Uwpbdunhluw» b
«dhqhlu» puunipiniuibphg kplyniup/




Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp
ro ii ‘Umm. us hwq. n

02 |6M< holwuh dwutiwéynin

060 Pubnpdwunpyw b Yhpwnwwu dwpbdwnpyw U(q) S(g)** g(aq)* 4 350
061 EYyninghwywu phdhw L(q) ywd | D(g)** <g(aq)* 22 280

H(q)
062 Mwuwndnipjntu <4dMN(q) |Ow(q) Ywd] <a(q) 17 300
£M(a)
063 [Jwulhwywnpdnieinitu b hngbipwunip)niu {1a(q) £dM(g) | Ow(q)*™ 16 300
064 Kuwjng tgnt U gpwlwuntpiniu {1a(p) <la(q) Ouwy(q)** 1 280
Yywd
<dM(g)™*
066 [bpwuubtiptu |Ggnt b gpwlwunieintu bni(p) bni(q) {1a(q) 8 350
067 Mppwnwlywu wpybuwn QU Qu Und <|g(a)* 30 300
068 Suwnbuwghwnipjwu nbunip)ntu U(g) {1a(q) Owy(q) 10 400
069 VUtipyhu U(q) ywd |  <a(q) Owy(q) 1 320
<dM(g)




Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp
ne ii ‘Umm. us hwq. n
03 ([Cwjywumnmwuh ywEwnmwwt Gwpnmwpughnwlwi hwdwpuwpw
(6puwuh Yppwhwdwihp)
070 [Phdpwywu wmbluuninghwubtiph b puwwywhwywuwYwu 97
Gwpnwpwghwnipjuwu Swlninbn
LUGUUWWGfuuninghw U(g) [©(g)** Ywd <a(q)*| Owni(q)* 402
d(g)™
Qtnuwpynypniuubph mumbuwghwnnyentu bW junwywpnud U(g) [|©(g)** Ywd <a(q)*| Owni(q)* 522
phihwlwtu wprynituwpbpniejwt Gjninnud) S(g)**
Cnowlw dhowywiph wywonwwunyeniu(phdhwywu U(g) [|©(g)** Ywd <|g(aq)* [ Owny(q)* 402
winryntuwpbipniejw Gjnnnid) D(g)**
Utunwdpetinph wbluuninghw Ul@)  [R(@)™ Yud <19(a)" [ Owy(q)* 402
d(g)™
Phdhwlwu wbiutninghwutip Ul@)  [2(@)™ jud <1a(a)*| Owny(q)* 402
(g)™
071 [Eubpgqbwnhluh $wyninbin 48
[Uuinndwjht ElGYunpwlwt Yuywuubp b wbnulwjwuptbip U(g) S(g)** <1g9(q)* [ Owni(q)* 420
I GLUunpwiubpgGunplw U(g) S(g)** <a(q)*| Owni(q)* 420
Futinquwprynitwytwn inbfuuninghwubp b EubpgGunhlwywu U(g) S(g)** <1g9(q)* [ Owni(q)* 522
Utuboutiue
Qtnuwpynypniutbph mumbuwghwnnyentu bW junwywpnud U(g) S(g)** <a(q)*| Owni(q)* 522
Lubpgbunhlwih Gyninnid)
Cnpowljw dhgwijwiph wwanwwunignit (Eubipgbiinhlwih 6jninnud) U(q) D(q)™ <|a(@)* | Owny(q)* 402
REpdwkubpgbunplyw U(q) b(q)** <1q(aq)* [ Owny(q)* 420
Stfuuninghwlwu gnpdpupwgubph (ywpngbuubiph) bW wpunwnpnyywu|  U(g) S(g)** <a(q)*| Owni(q)* 420
iy wnndwnwgnid (wunndwihu Eubipgbnhlwih 6jninnud)
072 [fEYynpwnbuuhjuyuwu wynynbn 21
isunpuinbubilu, bblunpwdbiuwthlu U | (@)™ <a(a) | Owm(e)” 420
L GlUunpwunbuuninghwubip
073 [Ubkjuwupyudbpbuwghnwywu Swlyninbin 56
Lhpwnwlwu dEfluwuhlw U(q) b(q)** <|g(aq)* [ Owny(q)* 420




Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwq. n
03 ([Cwjywumnmwuh ywEwnmwwt Gwpnmwpughnwlwi hwdwpuwpw
(Epuwuh Yppwhwdwihp)
Cpunwpwlswlwl gnpd b wnihgpwbhw U(q) b(q)™ <|g(a)* | Owny(q)* 420
Uwnppwohunye)ntu U(g) S(g)** <a(q)*| Owni(q)* 420
074 [Utpkuwphunipjwu  $wlniunbin 48
Qtnuwpynypniuubph mumbuwghwnnyentu bW junwywpnud U(g) S(g)** <a(q)*| Owni(q)* 522
dbpbuwohunypjwu jninnud)
U tiptiuwohunteyniu U jnyebiph dowynid U(g) b(q)** <19(q)*| Owny(q)* 402
Stfuuninghwywu dbptuwubp W uwppwynpnidutp U(g) b(q)** <19(q)*| Owny(q)* 402
075 [Spwuuwynpuwihu hwiwlwpgbiph wynynbn 44
Qnuwpynypniuubph mumbuwghwnnyentu bW junwywpnud U(g) S(g)** <a(q)*| Owni(q)* 522
wmpwuuwnpunh jninud)
Snwuuwnpuwihu ninhutiph, dhongutiph ohuwnpwpnie)ntu, U(q) S(g)** <1g9(q)* [ Owni(q)* 420
uwnwywpnuw b npwug 2whwgnpdnid
Pnfuwnpnuwiutiph b dwuwwwphwihtu GppUbynyejwu yugqdwybpwny  U(g) b(q)** <1g(a)* | Owy(q)* 420
L ywnwywpnwd
076  [Nwnhnnbuupuwyh b Yuwyh hwdwlwpgbph $wlynynbn 90
Qnuwpynyeniuubph munbuwghwnnyentu bW junwywpnud (Yuwh U(g) d(qg) <a(q)*| Owni(q)* 522
5)nLnnid)
Nwnhninbfuuhlw U Yuy U(q) b(q) <1a(@)*| Owy(q)* 450
077 |[Upptnubwnhliwjh Pwyninbin 138
Uyunndwnwgnd b unwdwpnid U(q) b(q) <19(q)*| Owy(a)* 450
i pntuwght nbhubhlu Ua) | %) <a(a)"| Om(a)” 450
Lbuuwpdrulw dwpinwpwaghwnniegntu U(q) d(qg) <1g9(q)* [ Owni(q)* 450
Mhuwhwnnpnhsutiph $hahlw b dhypnilinpnuplw U(q) b(q) <|g(a)* | Owny(q)* 450
Ruithwghwnnieinit, unwunwpuwgnu b ubipinh$hlwgned U(g) b(q) <19(q)*| Owny(q)* 450
078 |uppwnwwu dwpbdwwhlwih b $hghYujh wynynbn 11




Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dwutwghwnnip)niup dpgnipewhu ng dpgnipwiht jwudswn|wyn pynwd | déwpndh | quipap
np ii ‘Umm. us hwgq. n
03 ([Cwjywumnmwuh ywEwnmwwt Gwpnmwpughnwlwi hwdwpuwpw
(6puwuh Yppwhwdwihp)
hubnpdwunhyw b yhpwnwwu dwebdwnhyw U(q) b(q) <1q(aq)* [ Owny(q)* 504
079 endhynipbpwiht hwdwywpgbph b hu$npdwwnplwsh Swlynipn b 38
hugnnuwunhluw U hwgdnnulwt inbhubhlu Ug) | %) <a(a) | Owm(e)” 504
Qtnuwpynypniuubph mumbuwghwnnyentu bW junwywpnud U(g) d(qg) <a(q)*| Owni(q)* 522
wbnbGlwundwlwu nbuuninghwubph jninnud)
Stintywwnywlwu wuywnwugniegniu U(q) b(q) <19(@)* [ Owny(q)* 504
Stnblwunduwlwt inblulninghuwbn Ug) | %) <a(a)"| Owm(e)” 504
080 [Cunbppwpwunipjuu b dEnwinipghwih wynyinbn 73
Qnuwpynypniuubph mumbuwghwnnyentu bW junwywpnud U(g) S(g)** <a(q)*| Owni(q)* 522
(Gnuwdbwwinipghwih Gjninnid)
UGunwinipghw U Ujnygwghwnnieiniu U(g) S(g)** <a(q)*| Owni(q)* 402
Cnowlw dhowywiph wwhwwunyenu b puwlwt wwowpubiph U(g) S(g)** <19(q)*| Owny(q)* 402
pnjniuwybitn ogunwgnpdnud (jEnuwdbunwinipghwih éjninnid)
Ogwnwlwn hwuwdnubiph htitnwfunignud b dowyned U(g) b(q)** <19(q)*| Owny(q)* 402
081 Puogunwagnpddwl inuinbuwghwnnieintu Ulg) [(a)*™ Ywd <|a(a)* | Owny(q)* 9 522
Ouwny(q)*™




Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh Jwutiwghwnipyniup dngnLewht ns dngniewht jwudswpwn pYnwi | Jéwpndh | Jupdp
ng ii ‘Umm. us hwq. n
04 |KMAK Gynudpnt Jwutiwéynin
086 Rtnuwnyniejniuutiph nnunbuwghwnnieniu b Yunwywpnud (il U(g) b(q)** <19(q)*| Owny(q)* 3 360
nnjniuwpbipnipjw Gjninnid)
088 EtYunpwtubpgbunpyw U(g) b(q)** <1q(aq)* [ Owny(q)* 21 315
089 UUtiptiuwghunteyniu U Ujnyebtiph dowynid U(g) b(q)** <19(q)*| Owny(q)* 22 300
090 [Pnfuwnpnuiutiph b dwuwwwnphwiht GpeUbynyejwu yuqdwytpwny — U(q) b(q)** <19(q)*| Owny(q)* 22 300
L ywnwywpnwd
091 Chuwpwpniegintu, shtwpwpwywu hptiph bW Yunnigwdpubiph U(g) b(q)** <19(q)*| Owny(q)* 19 315
WnunwnpnLenLu
092 pubnpdwwnplw b Yhpwnwwt dwebdwnhlw U(q) b(q)** <|g(aq)* [ Owny(q)* 10 360
093 [Mhuwhwnnpnhsutiph $hghlw b dhypnkiGyunpnupyw U(g) b(q)** <|g(a)* [ Owny(q)* 12 360
094 [Stipuwnp| b pERUL wpryntuwpbpnyejwl wpunwnpwuph bwhuwagdnid U(g) b(q)** <1q(aq)* [ Owny(q)* 21 300
095 [Stpuwnpy b phipl wprnyniuwpbipniejwt wpnwnpwwnbuwyubph U(g) b(q)** <19(q)*| Owny(q)* 23 300
inbGifuuninghw
096 Kwdwlwpgswihtu gbnwpybunmwlwi vwiuwagdnid U(g) 96 Ywd <1q(aq)* [ Owny(q)* 10 360
d(q)™




Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp
ro ii ‘Umm. us hwq. n
05 |KMAK Ywuwdnph dwutiwéjnin
097 Rbtnuwnynreniuttiph tnunbuwghwnniegniu b U(g) b(q)** <19(q)*| Owny(q)* 4 360
ywnwywpnu(dbpbuwshunipjwu djninnud)
098 [Pnfuwnpnuiutiph b dwuwwwnphwiht Gpeubynyejwu yuqdwytpwny — U(q) b(q)** <19(q)*| Owny(q)* 13 300
L ywnwywpnwd
099 pudbnpdwunhlyw W hwoynnuwu nbluuhyw U(q) b(q)** <|g(a)* [ Owny(q)* 1 360
100 Chuwpwpnieintu, shtwpwpwywt hptiph W unnigwdpubiph U(g) b(q)** <19(q)*| Owny(q)* 1 315
WnunwnpnLenLu
101 Pgunwlywp hwuwdnubiph htwwfunignud b dowynid U(g) b(q)** <19(q)*| Owny(q)* 21 300
102 Ubwwinipghw U ujnipwghuinnieintu U(g) b(q)** <19(q)*| Owny(q)* 21 300
103 Jtiptuwohunieiniu U Ujnyebiph dowynid U(g) b(q)** <19(q)*| Owny(q)* 19 300
104 Stpuwnh| b phlipl wpryntuwpbpnyejwt wpnwnpwwnbuwlubph U(g) b(q)** <19(q)*| Owny(q)* 21 300
inbGifuuninghw




Owé-
Yugh

Pnthp,
dwutwghwnyejniup

Cunniubnejwu puunyeyniuutpp

Cunniubnipjwu wmbn/wyn pYnid| ntudwu

dpgntewjhu ns dpgntewjhu

wuySwp|wjn pynd | Jéwpndh | Jwpép

np ii ‘Umm. us hwq. n

06 [KNAL Ywwwuh Jwutwéynn

105 pubnpdwunpyw b Yhpwnwwu dwpbdwinpyw U(q) b(q)** <1q(aq)* [ Owny(q)* 9 402

106 Rbnuwnynieiniuttiph nunbuwghwnnieginiu b U(g) b(q)** <|a(q)* | Owny(q)* 10 402
wnwywpnu(Gnuwdbunwinipghwlwu djninnud)

107 Sbntywwndwlwu nbluuninghwubp U(q) b(q)** <1q(aq)* [ Owny(q)* 15 402

108 Oguwlwn hwuwdnubiph hGrwfunignid b dwynid U(g) b(q)** <|a(q)* | Owny(q)* 20 354

109 Ubwwinipghw b Ynipwghwnnipiniu U(g) b(q)** <|a(a)* | Owny(q)* 21 354

110 Chuwpwpniejniu, ghtwpwpwlwu hpbpp bW unnigjwdpubiph U(g) b(q)** <19(q)*| Owny(q)* 21 354
WnunwnpnLenLu




Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp
ro ii ‘Umm. us hwq. n
07 |Gplwup Gwpnwpwybwnnipjuu b ghtwpwpniejuu yhwmwlwu
hwiwjuwpw
111 [Bwpnwpuwybnnypjuu Swlninbn 23
[wnunwpwwbwnnientu W nhquju U(q) Ly Q6 <1g(a)* 660
12 [Yhquiyuh Swlnipnbn 17
Thquit Ly 45 <ig(a)” 590
13 Uppwnwlwt wpybunp b ywwndwdwlnipwiht winiphqih 45
Pwlnipintin
tintighy wnybuwn Qsu Und {a(q)* 560
114 Upnyniuwpbpuwywu b punwpwghwwu Jhtwpwpnipjuu 83
Pwlnipintin
Chuwpwpnipjniu, 2htwpwpwywu hpbpp b Yunnigywdpubph U(g) d(q)** a(q)* 590
WnunwnpnLenLu
115 [Qwyynnuwu mbuuhyuwyh, junwjwpdwu b 233
munbuwghwnnipju wlninmbun
Fuwwwhwywuwlwu thnpdwplunye)niu U(g) d(q)** a(q)* 520
Fuogunwagnpddwu nunbuwghwnniegntu U(g) S(g)** g(aq)* 520
hubnpdwwnhlw b hwoynnuwu nbjuuhyw U(q) d(q)** a(q)* 480
Lwnwywpdwu nbntlwunjwlywu hwdwlwpgbn U(g) b(q)** <|1g9(q)* 500
Cwojwwwhwlwu hwogwnnd (2huwpwpnyejwt Gjninnid) U(g) b(q)** <|1g9(q)* 520
Qtnuwnyniejniuutiph nmunbuwghwnnieniu b junwywpnud U(q) d(g)** <19(q)* 520
ohtwpwpnipjwu djninnid)
Qtnuwnyniejniuutiph nmunbuwghwnnieniu b junwywpnud U(q) d(g)** <19(q)* 520
wmpwuuwnpunh jninud)
Qtnuwnyniejniuutiph nmunbuwghwnneniu b junwywpnud U(q) d(g)** <19(q)* 520
pwnwpwjhtu inunbuniejwt, puwwpwuwjhtu b Yndniuw
pwnwinjwu Gjnnnid)
Cnowlw dhowywiph wwhwwunyeynu b puwlwt wwowpubiph U(g) d(q)** a(q)* 520
inryntuwybivn oginwgnpdnid (puwn Gjnintiph)

10



Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp
ng ii ‘Umm. us hwq. n
07 |Gplwup Gwpnwpwybwnnipjuu b ghtwpwpniejuu yhwmwlwu
hwiwjuwpw
116 |[KhnpnunbfuuhYuwjh b pwnwpwjhtu munbunipjwu $wynynbn 110
LUy inwugnieiniut wpnmwlwng hpwyphtwyubipnud U(g) Dd(q)** a(q)* 580
Rnwjhu hwdwlwnpgbph 2puwpwpnyeyniu b gwhwgnpdnid U(g) S(g)** g(aq)* 590
RPwnwpwjht tnunbunieiniu b oGpdwguqudwwnwlywpwpnid U(g) S(g)** g(aq)* 590
117 [Spwuuwynpunp Swynipnbn 84
Snwuuwnpuwihu ninhutiph, dhongutiph ohuwnpwpnie)ntu, U(q) d(g)** <19(q)* 590
uwnwywpnuw b npwug 2whwgnpdnud
Pnfuwnpnuiutiph b dwuwwwphwiht GpeUbynyejwu juqdwytpwyn  U(q) b(q)** <|g9(q)* 450
L ywnwywpnwd
118 [Kwdwlywpqswipu twhwgédwu Pwlniunbin 31
Kwdwwpgswihu gbnwpybunwlwt bwiuwgdnid Ly Q6 g(aq)* 560
119 [Uwnwuwnph b Yunnigwépubph twjuwgédwu Swlninbn 118
lUuswnd gnyph thnpdwptunieiniu b junwywpnid U(g) ywd | D(q)** a(q)* 520
S (Ywn.)
Lwnwuwnp W Yhpwnwlwu gbnnbghw U(g) ywd | D(g)** a(q)* 520
S (Ywn.)
Chuptiph bwfuwgdnid U(g) ywd |  D(g)* {a(q)* 590
S (Ywn.)
120 fdwpgdwuswlwu gnpd (nbfuuhywlwu pwpgiwunye)niu) wugibpbu| <g(q) | Uugyq)™ 48 450
L. hwjbipbu Ywd U(g)*™
121 fSwpgdwuswlwu gnpd (wnbuuhyuywu pwpgdwunye)niu) nnwbpbu | <g(q)  [H(g)** Yud 49 450
L. hwjbipbu U(g)*™

1



Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbkin/wyn pynudl nrudw
Yugh dwutwqhwnipjniup dpgntewihu ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp

np ii ‘Umm. us hwq. n

09 |KMSK Gynudpnt Jwutiwéynin

142 fndbpghw (wjn pYnw' phqubuh Yugqdwytipwnid) U(q) <la(q) Owy(q) 22 360
143 Jhowqgwjhtu inunbuwlwu hwpwpbipnyejniuutip U(g) <la(q) Owy(q) 13 380
Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbtin/wyn pynudl nrudw
Yugh dwutwghwnyejniup dpgnipwjhu ng Unpgnipwiht {wuytwp{ win pyYnud | Jdwpnyh Jwpap

np ii ‘Umm. us hwq. n

10 |KMSL bnbquwanph dwutwéjnin

145 Mwnwywpnid (wjn pYnd’ gpnuwpontejw Yunwywpnid) U(g) {g9(q) Owi(q) 12 350

147 Qbnuwnyniejniuutiph ntunbuwghwnnyeiniu b Yunwywpnid (puwn U(g) <la(q) Owy(qg) 17 300
finintinh)

148 Uhowqgqwiht nnunbuwlwu hwpwpbipnieniutbn U(g) {a(q) Owy(q) 17 325

149 Kwoywwwhwlwu hwodwnnu (puin §yninkinh) U(g) {g(q) Owy(q) 14 325




Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp
ng ii ‘Umm. us hwq. n
11 . Upndjuup wiudwt hwjjuwlwt yEnwlwt dJwuyujwpdulw
hwiwjuwpw
150 Jwpbdwunhlw U(q) b(q)** <a(q)* 1 260
151 bhghyw b(q) U(g)*™ <a(q)* 15 260
152 [Phdhw L(q) |U(@)** Yud <la(q)* 13 260
d(q)™
154 |Ugfuwphwgpniejniu U(qg) U(g)*™* a(q)* 1 270
155 EYninghwlwu phipw (Fuwwwhwwunieniu b ptogunwagnpdnid) L(q) wd | D(q)** <|1g9(q)* 10 260
H(q)
156 Muwuwndnieiniu <dM(q) [Owi(g) Ywd| <a(q) 4 315
£M(a)
161 Uugiptu [Ggnt U gpwlwunipiniu Uugy(p) Uug((q) {1a(q) 48 445
162 [Rbpdwubipbu [Ggnt b gpwlwunipiniu J(p) J(q) {19(q) 1 410
163 bpwuubipbu |Ggnt b gpwywunieintu bni(p) bni(q) {1a(q) 13 410
164 puwwubipbu |Ggnt b gpwywunieintu Owy(p) Owy(qg) {1a(q) 27 410
165 Jowlnipwpwnieniu {dM(q) {a(q) Ouwy(q)** 2 320
Ywd CN(q)
166 [tnwwg |bgnt b gpwlwunte)niu Ma(p) M(q) {1g(q)* 7 270
168 pPubnpdwnhlw U(q) b(q)** <a(q)* 18 320
169 Puwghwinipiniu L(q) ywd [ U(g)*™ {a(q)* 19 260
(q)
170 SEuuninghw W dGnuwnysnieniu U(g) b(q)** <|g9(q)* 29 305
174 Jwuwywndnipniu b hngbpwunipniu(Uwfuwnuwnngulw) {g9(q) Owy(q) Y(q)** 23 330
182 Kwuwniy Yppniejwt dwuywywpdnyeniu W hngbpwuniejntu {g9(q) YU(g)** 8 270
Ohgndpbundwuljwywndnip)niu)
185 Kwwnnwy Yppnypjwi dwulwywndnieiniu b hngbpwunieniu {g9(q) YU(g)** Uugy(a)* 8 270
Epgnptipwwhw)
192 Brpwnwpwuwhtu-nbnGluwwndwlwu wnpjniputn {g(q) Owy(q) |<dM(gq)** 17 265

13




Owsd- Pnthp, Cunniubnpywt puinyeyniuibipp Cunniubinpyw wtn/wn pynud| nludw
ng Ungnipwht {wuybwpwin pYnud | Jéwpndh | updp

Yugh dJwutwqghwnniejniup dnpgnipew)hu
o ii “ouLn. us hwq. n

11 . Upndjuup wiudwt hwjjuwlwt yEnwlwt dJwuyujwpdulw

hwiwjuwpw
193 Unghw|-dwynipwiht gnpdniutinyejnit (pwugwnwuwihtu gnpd U {1a(q) Owy(qg) [<LdM(q)** 1 265

hnwpéwuubph ywhwwunieint)

14




Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n
12 [Gpbwup 4. Ppyniunygp wudwu yEnmwlywu Equpwuwlwu
hwiwjuwpw
202 Lbqywpwunipiniu, dpwuubnbiu tgnt bni(p) bni(g) {19(q) 1 400
203 Lbgwpwunieiniu, gbpdwubpbu [Ggnt Y(p) Y(g) {|g(q) 12 400
204 |bgqwpwunieiniu, hinwbpbu |Ggnt Owy(p) Own|(q) {1a(q) 18 400
205 |Lbqywpwunipiniu, nnwuwg [Ggnt M(q) Owy(q) {19(q) 14 400
207 Lbgqywpwunteiniu b dhodowlnipwhu J(p) Y(q) {19(q) 20 400
hwnnpnwygnipeniu,gbpdwubipbu
208 Lbqwpwuniegyniu b dhodpwynipwiht bni(p) bni(q) {19(q) 16 400
hwnnpnwygnieiniu, ppwtiubiptiu
209 Lbgwpwunieiniu b dhodpwynipwihu hwnnpnwygnieniu,nniuwg Owi(q) Mi(qg) {g(g) 42 400
[Giqnt
210 Pwuwp (Egnt b gpwlwunipyniu, wugbnpbu Ggnt Uug(p) Uug((q) {1a(q) 33 400
211 Pwwp (gnt b gpulwuniegniu, gipdwubipbu (Ggnt J(p) J(q) {19(q) 22 400
212 Ouwwp Ggnt b gpwywunieyni, $pwuubpbiu Ggne dni(p) bni(q) <la(q) 26 400
214 fFwpgiwuswlwu gnpd' nnwbipbu, wugpbu W hwjbpbu Ggniubp M(q) Uugy(a) {|g(q) 37 400
215 fwpguwuswluwu gnpd’ $pwubipti b hwjbinbu (Ggniubip bni(p) bni(q) {1a(q) 1 400
216 [Fwpgiwuswlywu gnpd' gbipdwubpbu W hwbipbu |Ggnwubp S(p) Y(q) {|g(q) 7 400
217 [nwwg tgnt b gpulwtniegniu Owy(q) MH(q) {1a(q) 47 400
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Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dJwutiwghwnipniup dpgnipwihu ng Ungnipwiht widSwp{wn eynu | Jéwpnyh | updp
np ii ‘Umm. us hwgq. n
13 |Gynuipn U. Lwppwiunywuh wujw ywEwnmwYw
dJwulwywpdwlw huunhwnnin
218 Jwpbdwwhyw U(q) b(q)** <a(q)* 13 230
219 pudnpdwwnhlyw b Yppwnwlwt dwebdwnhlyw U(q) S(g)** g(a)* 13 300
220 fbhghlw b(q) U(g)*™ <a(q)* 18 230
221 |Rhdhw L(q) |U(g)** Ywd {ja(q)* 10 250
bla)™
222 MGUuwpwUnyE)NLU Uag) [R(aq)** Ywd g(aq)* 5 250
b(a)™
223 Ugfuwphwgpnientu U(qg) U(g)*™* a(q)* 1 250
224 lPwpunbquapnipniu b unwuwpwihtu gnpd U(qg) U(g) a(q)* 16 300
225 Puwwwhwwunipniu b puogunwagnpdnid L(q) Ywd [ D(q)** <a(q)* 15 250
4(a)
226 [tenwgnpdwlwu phdhw £(q) Y(q)** Yud <|g(a)* 7 350
b(a)™
227 Muwuwndnieintlu <4dM(q) |Ow(q) Ywd] <ja(q) 12 300
£M(a)
228 ppwywghwnipniu (Jwuwywndnieniu) {4dMN(q) |Owni(g) Yywd] <g(g) 1 350
CM(q)
229 Lpwgpniejntu UU(q) {g(p) {|g(q) 14 300
230 Kuwjng tgnt b gpwlwunipiniu {1g(p) <la(q) Ouwy(q)** 15 300
Yywd
LdM(q)**
231 Mugitiptu |Ggnt W gpwywunteniu Uug(p) Uugy(a) {g(g) 32 400
232 [bpdwubptu [Ggnt W gpwlwunye)niu Y(p) Y(g) {|g(q) 5 300
233 (bpwuubinbiu (tgnt b gpwlwunip)niu bni(p) bni(q) {1a(q) 5 350
235 fFwpguwuswhwu gnpd* wugbipbu b hwjtpbu Uug(p) Uug(g) {1a(q) 12 350
236 [dwpguwuswlwu gnpd' wugbpbu b nnwbpbu Miqg) Owi(q) g(aq)* 9 350
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Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp
ro ii ‘Umm. us hwq. n
13 |Gynuipn U. Lwppwiunywuh wujw ywEwnmwYw
dJwulwywpdwlw huunhwnnin
237 [tnwwg |kgnt b gpwlwunte)niu Ma(p) M(q) <|1g9(q)* 15 300
239 hudnpdwnhlw U(q) b(q)** <a(q)* 14 200
241 SGluuninghw b dEnuwnplsniegniu U(g) b(q)** <19(q)* 15 250
242 Jwuywywndnipniu b hngbpwuniginiu (Uwfuwnwnpngulywu) <lg(q) Owy(q) Y(g)** 9 250
243 Jwulwywndnigyniu b hngbipwunigniu <a(q) Own|(q) Y(q)** 7 250
246 Mwnwywpnud U(g) <la(q) Owy(q) 20 350
247 Utndhu U(g) ywd | <g(q) Owy(q) 13 250
<dMN(g)
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Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp
ng ii ‘Umm. us hwq. n
14 JJwtwanpp <. @nuiwujwuph wujuwu yEnwlwu
dJwulwywpdwlw huunhwnnin
248 Jwpbtdwwnhlw U(q) b(q)** <a(q)* 1 330
249 Mppwnwywu Jwpbdwwnhlw b $hghyw U(q) S(g)** g(a)* 12 330
250 MbUuwpwunyenLU Yg)  |R(q)** Yud <la(q)” 7 330
()™
251 Uptuwphwgpnientu U(qg) U(g)*™* a(q)* 20 330
252 Henwgnpdwlwu phdhw £(q) Y(q)** Yud g(aq)* 13 330
()™
253 Mwwndnipjntu <4dM(q) |Ow(q) Ywd] <ja(q) 38 330
£M(a)
254 ppwywghwnipiniu (dwuywywpdnipniu) {4dMN(q) |Owni(g) Yywd] <a(g) 6 400
£M(a)
255 [pwgpnieintu {a(q) UU(q) RLU(p) 5 350
256 Kwjng |Ggnt b gpwywunieintu {1a(p) <la(q) Ouwy(q)** 33 330
Yywd
<dM(g)™
257 Mugipbu [Ggnt b gpwlwunipiniu Uugy(p) Uugy(a) <la(q) 17 350
259 [Fwpguwuswlwu gnpd* wugibiptu, hwjbiptu Uugy(p) Uugi(g) {1a(q) 22 350
260 [‘nwwg |Ggnt b gpwywunieintu Mha(p) MH(q) {g(q)** 8 330
261 phubnpdwunhlw U(q) b(q)** {a(q)* 16 330
265 Jwulwywndnipniu b dbpnnhlw (nwppwyw Ypeniejwi) {g(q) U(g)™ 7 330
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Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n
24 (Quywnh yEwnmwwt hwiwuwpwu
317 MbuuwpwunienLu Yg)  |R(q)** Yud <la(q)” 14 230
bla)™
318 Ugfuwphwgpnientu U(qg) U(g)*™* a(q)* 17 230
319 Mtnwgnpdwlwu phdhw £(q) YU(g) Ywd g(aq)* 24 230
D(q)
320 [Mwuwdnye)niu <dM(q) [Owi(q) Ywd| <q(q) 20 240
£M(a)
321 ppwywghwnnieniu a(g) <dM(q) Owi(q) 14 510
322 Kuwyng |tiqnt b gpwlwuniegniu <g(p) <la(q) Ouwy(q)** 17 230
Yywd
LdM(q)**
323 Mugbptu |Ggnt b gpwlwunie)niu Uugy(p) Uugy(a) {g(q) 10 300
324 [tnwuwg |kgnt b gpwlwunte)niu Ma(p) M(q) <|g9(q)* 22 230
326 [bhuwuuubip U(q) <la(q) Owy(qg) 12 320
327 Rbnuwnynigyniutitiph tnunbuwghunnigyniu bW unwywnpnud U(g) {1a(q) Owy(q) 14 320
328 Kwoqwwwhwlywu hwojwnnd (puwn §ynintiph) U(g) <lg(q) U(q) 25 320
329 pubnpdwwnplw b hwoynnwywu inbjuuhlw U(q) S(g)** g(aq)* 19 320
330 [RPwpwubqugpnieintt b juwnwuwnpwihu gnpd U(qg) U(g) g(aq)* 30 230
331 Puwwwhwwunieiniu b poginwgnpdnid Yg)  [L(4)** Ywd {a(q)* 23 230
d(q)™
332 Utinghu(unniphqd) U(g) Ywd | <ig(q) | Owy(q) 27 230
<dM(g)
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Owo- Pnthp, Cunniubjnpyw puunysyniutiipp Cunniubinpyw wnbkn/wyn pyYnud| nuudw

Yugh dJwutiwghwnipniup dngnipwjhu ns dngnipwht fwudswp|wn pynd | Jéwpndh | ywpép

ro ii ‘Umm. us hwq. n
27 | Kwjwumnwup wqqujht wgpwpwihtt hwdwpuwpwy

340 ([Ugpnundhwljwl dwutwghwnnyeniuubp 95

Ugnntlninghw U(q) Yud [£(q)* Yud Qa(a)* 240
4(9) H(@)™

Ugpnundhw (wn pynud* 310103- yunnwpndnipiniu b U(g) Ywd |L(q)*™ Yuwd <|g9(q)* 240
wnnnwagnpdnieinu Jwulwghwnwgdwdp) Y(q) YU(g)**

Pnyubph yWwowmwwuniegntu U(g) ywd |L(g)** Ywd g(aq)* 240
4(@) H(@)™

Hninwnunbuwlwu Jywlwpnyubpp ublblghw b gbubinplyw U(g) Ywd |L(q)** Yud {a(@)* 240
4(9) H(@)™

341 Muwmwnwiht nunbunieinit b puwwywptinh jutwswuwywwnnid U(g) Ywd |L(q)*™ Yuwd <|1g9(q)* 30 240

$(q) H(@)™

342 Wuwutwpnidwljwy b wuwubtwpnidwljuw Jwutwghwnnipyniuubp 65
Luwutwpnidwwt uwthnwpwlwu thnpdwpluntniu U(g) Ywd [L(q)** Yuwd <19(q)* 240

4(9) H(@)™
Luwubwpnidnipiniu U(g) Ywd [L(q)** Yuwd <19(q)* 240
4(@) H(@)™
Uuwutuwpnidnipnit (wyn pyYnid’ 310202-yuuwwnbfuuninghw U(g) Ywd |L(q)*™ Yuwd <|g9(q)* 240
Puwutwghunwgdwdp) Y(q) Y(gq)**

343 |Muwpbuwdpbtpph wkjuuninghwubph Jwutwghwnye)niuubp 243
Fniwnunbuwlywu b ywpbuwjhtu wpunwnpwuph U(g) [|©(g)** Ywd a(q)* 270
Lhwebpwynpdwt wbluuninghw U nhquju Dd(q)*™
Fninwnuntuwlwu hnwph bW wwpbuwdetipph thnpdwptunientu, U@ |2(g)* Ywd <|1g9(q)* 270
uunwunwpuwgnd b ubpnhdhlugnud D(g)**

Fudnpdwu wpunwnpnyejniuutiph nbfuuninghw U ghubignpénie)niu U@ |2(g)* Ywd <19(q)* 270
d(g)™

Hwpeh U Ywpluwdptinph wbfuuninghw Ulg)  [R(@)™ Ywd <ja(a)* 270
d(g)™

Mwauh U dnpent inbifutininghw Ulg)  [R(a)™ Ywd <a(q)* 270
d(g)™

Kwgh, hpnpwytntup W dwlwpnup wpwnwnpwuph nbuuninghw U(g) [|©(g)** Ywd <19(a)” 270
D(q)™
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Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘me, us hwq. n
27 | Kwjwumnwup wqqujht wgpwpwihtt hwdwpuwpwy
QUwu b dyuwdebpph wkuuninghw U(g) [|©(g)** Ywd g(aq)* 270
d(g)™
Uwulwlywu b $niuyghnuw] utunh wnbfuuninghw U(g) [|©(g)** Ywd <1g(a)* 270
b(a)™
Uuh U duwdebpph wbluuninghw U(g) [©(g)** Ywd |g(a)* 270
bla)™
Mwhwoénugdwu b utunwfuwmwunebph wnbfuuninghw U(g) [|©(g)** Ywd <1g(a)* 270
b(g)™
344  [Ugpnywpbuwiht hwdwYwpgh nunbuwghwnnipjuu 270
Jwutwghwnipiniuubp
Ugpwpwiht wpunwnpnigjwu Eynundhlw b unwywpnid U(g) {g9(q) Owi(q) 350
Ugnpwpuwht pwnwpwlwunigni b inwpwdwpgwh quipgugnud U(q) <19(q) Ouwy(q) 350
Ugpnphqubu b onijwjwpwitinieniu U(q) <19(a) Owy(q) 400
Ugnpnujwpbuwiht hwdwlwngh funphpnuwwnynieiniu b U(q) <19(q) Ouwy(q) 350
intinGYwunynie)ntu
Ugnpnwwpbuwjhtu hwdwlwnpgh hwoywwwhwlwu hwojwnnd b U(g) {g9(q) Owi(q) 400
intnhn
Ugnnujwpbuwiht hwdwlhwpgh $htuwtutbph Yunwywpnud U(q) <19(q) Ouw(q) 400
Uwwhnywgpulwt gnpd (wgpnuwnpbuwiht hwdwlwpgnud) U(q) <19(q) Ouw(q) 350
Uwpwupwghunugni U wiwpwuph npulh thnpdwptiuniegjniu U(q) <1a(g) Ouw(q) 350
gininupunwnpuwuph b wwpbuwdebpph)
Knnwghypwht hwpwpbpnyeniuubp U(g) {a(g) Owi(q) 350
Uuunwpnniuwpbpnigjwu Eynundpyw b yuwnwywpnud U(g) {g9(q) Owi(q) 350
345 (Ugpwpwjhu hwiwlwpgh §wpnwpwughwnnipjwu 183
Jwutwghwnipiniuubp
Fninwnuntuwwu dptuwutip W uwppwynpnudubin U(g) b(q)** <|1g9(q)* 250
Y niwnunbunypiw LiEYnphdhlughw b wynndwunwgnid U(g) S(g)** <1g(a)* 250
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Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dwutiwghwnipyniup dpgnipw)hu ng Unpgnipwiht {wuytwp{ win pyYnd | Jdwpnyh Jwpap

np ii ‘Umm. us hwq. n

27 | Kwjwumnwup wqqujht wgpwpwihtt hwdwpuwpwy
3 ninwnuwnbiunipjwu dhpbuwjwgnid U(q) b(q)** {a(q)* 250
HGUuwagnpdniutinejw wuywnwugnieintu b wuywnwugnieintup U(g) b(q)** <19(q)* 250
wnpunwlwpg hpwyhdwlubpnd
K nnwpwnbjwynwd, hnnwjhtu W 9pwjhtu wywownpubph ogunwagnpdnud L U(g) S(g)** g(aq)* 250
Wwhwwunwd
K nnwohuwpwpnieintt b hnnwihtu Junwuunp U(g) d(q)** a(q)* 300
Pnfuwnpnwiubph Yugdwybpwynuwu ne junwywpnwdu U(g) S(g)** g(a)* 300
ugnnuwpbuwiht hwdwlwpgnd/ wn pynwd thnfuwnpnwubiph b
bwuwwwphwiht bpplbynyejwu Yuqdwybpwynw b unwdwpnid
Puwutwghwnnipjudp

22



Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp
ng ii ‘Umm. us hwq. n
28 |9nphup yEnmwlwi hwdwuwpwu
350 Ywpbdwwnhyw U(g) b(q)** {a(q)* 1 200
351 bhghlw b(q) U(g)*™ <a(q)* 10 200
352 MbuuwpwunyenLu Yg)  |R(q)** Yud <la(q)” 12 200
()™
353 [ttnwagnpdwlywu phdhw £(q) Y(q)** Yud <g(aq)* 10 280
()™
354 Muuwndniejniu <dM(q) [Owi(q) Ywd| <q(q) 14 280
£M(a)
355 ppwywghwnnipinit (dwulwywndnipejniu) <4dM(g) [Owi(q) Ywd] <a(q) 26 320
£M(a)
356 Kuwjng [tgnt b gpwlwunipiniu {1g(p) <la(q) Ouwy(q)** 9 220
Yywd
<dM(g)™*
357 Jwulwywnpdnipniu b dapnnhlw {1a(q) U(g)*™ 9 250
358 [Qbnuwpynipniuutinh tnuntuwghwnieniu b Yunwywnpnid U(g) {a(q) Owy(q) 13 300
359 Etywnpwtubpgbinhyw U(g) S(g)** g(aq)* 16 220
360 [EtYwnpnuwihu inbfuuhyw U(g) b(q)** {1g(q)* 19 200
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Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw

Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp
ng ii “Umm. us hwq. n
41 |phwup "Guénp” junwyjwpdwt hwdwpuwpw
373 Ppwywghwnnieintu {1a(q) <dM(q) Owy(q) 30 290
374 Lpwgpnye)ntu {g9(q) UlU(q) RLU(p) 25 290
375 Uhowqquihu hwpwpbipnyejniuutip <dM(q) {1a(q) Owy(qg) 30 290
376 Kwyng (tignt U gpuiluitnyeyniu™ <1a(p) <la(q) [ Owyfq)*™ 20 290
Yywd
<dM(q)*
377 Puwn (bgnt b gpwwunieiniu (wug|tipbu) Uugy(p) Uug((q) <la(q) 25 290
379 [bhuwuuubip U(q) <la(q) Owy(q) 25 290
380 Kwoywwwhwlwu hwajwnnid (puin §ynintinh)*** U(g) {1a(q) Owy(qg) 10 290
381 pubnpdwunpyw b hwoynnuywu inbluuhlu*** U(q) S(g)** g(aq)* 25 290
Owé- Pnthp, Cunniubiniypjw puunipyniuitipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp

np ii ‘Umm. us hwgq. n

42 (Gpbwup "Gwihp" hwdwuwpwu

383 Lpwgpnipjniu <la(q) UU(q) PLU(p) 20 200




Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbkin/wyn pynudl nrudw
Yugh dwutwqhwnipjniup dpgntewihu ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp

no ii ‘Umm. us hwq. n

43 |U. Uypungwup wujwu Gplwiuph munbuwhpwjwqhmwyw
hwiwjuwpw

384 Kngbpwunypjniu Y(q) <1a(g) Owy(q) 25 207
385 ppwywghunnieniu {dM(q) {a(q) Owy(q) 30 207

387 Pwuwn tgnt b gpwlwunipiniu (wug bpku) Uug(p) Uuqg(q) {1a(q) 25 161
388 [bhuwuuubin U(g) {a(q) Owy(q) 30 161
Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbtin/wyn pynudl nrudw
Yugh dwutwqhwnipjniup dpgntewihu ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp

np ii ‘Umm. us hwgq. n

44 |phwuph "UDP" puwtvwlw whwnbdhw

389 [bhuwuuubip U(g) {a(q) Owy(q) 30 280
390 Kwoywwwhwlwu hwywnnid /pun §ynintinh/ U(g) {a(q) Owy(q) 30 280




Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw

Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n

45 |Gphwup "Swypniuwly" hwdwuwpw

401 YJwulywdwndnipjniu b dbpnnhlw {1a(q) U(g)*™ 30 175
402 Pnidwlwu gnpd £(q) b(q) Y(qg) <a(q)* 29 300
403 Junndwwnninghw £(q) b(q) Y(qg) <a(q)* 26 350
404 Gnwghwnyeniu £(q) d(qg) U(q) a(q)* 30 300
405 REnuwpynipniuubinh tnunbuwghwnieniu b Yunwdwnpnid U(g) {1a(q) Owy(qg) 30 175
407 Jwulwywnpdnipgyniu b hngbpwunieiniu <lg(q) Owy(q) Y(g)** 30 175
409 Mwnwywnpnud U(g) <la(q) Owy(q) 30 175

/ «Pniduljutt qnpd», «Unndwwnninghw» b «hnughwunipniiy dwutwghwnnipjniiubph nphudnppubpht hpwyniup £ Jepuyywhynud hpkug punpnipjudp hwtdub) upgws Eptp®
«dhqhlju», «Rhthwy, Thiuwpwinipjni» dpgnipughtt puuinipjnitubphg tpyniup/

Owé- Pnthp, Cunniubjniypjw puunipyniuitipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp

np ii ‘Umm. us hwgq. n

46 [|"Cwypnuwl” hwdwpuwpwup "Chpwlwgh" Jwutwénin

394 Kuwjng [tgnt b gpwlwuntpiniu {1g(p) <la(q) Ouwy(q)** 25 175
Yywd
<dM(q)*

26



Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbkin/wyn pynudl nrudw
Yugh dwutwghwnyejniup dnpgnipwjhu ng Unpgnipwiht {wuytwp{ win pyYnd | Jdwpnyh Jwpap

np ii “umm. us hwq. n

47 (Ujwunwlywt pdoynipjut hwdwuwpw

397 Pnidwlwu gnpd £(q) b(q) Y(qg) {a(q)* 25 350
398 Uwnndwwnninghw L(q) b(q) Y(qg) <a(q)* 25 350
/ Yhunpyubpht ppwynip b Jbpuwyuwhynud hpkig ptupnipjudp hwidil) tpqws bptp' «dhghljuy «Rhuthwy, «Yhuwpwinipniy dpgnipughtt putnipniitbphg kplniup/
Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbtin/wyn pynudl nrudw
Yugh dwutwgqhwnipjniup dpgntewihu ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp

np ii “umm. us hwq. n

48 |Gplwup "Ukubodbuph” hwidwuwpwu

411 Ppwdwghwnnieniu Qa(@) | <dMN(q) | Ouwy(q)

27



Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw

Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp
ng ii ‘Umm. us hwq. n
49 |6plwup "nwwhuwihtu hwdwpuwpwu”
414 ppwywghwnnieniu 9(g) <dM(q) Owi(q) 30 250
415 Lpwgpniejniu {g9(q) UlU(q) RLU(p) 30 225
416 Kuwjng [tgnt b gpwlwuntpyniu®*= <g(p) <lg(q) Ouwy(q)** 20 200
Yywd
<dM(g)™
417 Ouwuwp (Ggnt b gpulwunigniu (wugbpbu, $pwuubptu) Owy(p) Owy(q) a(q) 30 225
418 Jwulywywndnipiniu b dbpnnhlw {1a(q) U(g)*™ 30 200
419 REnuwnpynipniuuinh tnuntuwghwnieniu b Yunwdywpnid U(g) {a(q) Owy(q) 30 250
420 pubnpdwwnplw b hwoynnwywu inbjuuhlw U(q) S(g)** g(aq)* 30 225
Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp

np ii ‘Umm. us hwgq. n

51 |"Upuppwp 9n2" hwj-nniuwluwu dhowqquiht hwdwjuwpwu

422 ppwywghwnnientu {dMN(q) Owy(q) {g(q) 30 200
426 Uwnndwwnninghw £(q) b(q) Y(qg) {a(q)* 20 250
428 Mwnwywpnud U(g) <la(q) Owy(q) 30 200
429 (bhuwuuubip*** U(q) <la(q) Owy(q) 20 200

/<Uunndwunninghwy, «Fniduljutt gnpd» b «Hnughwnnipjniy dwutiwghwunnipnibitbinh ghunpnubpht hpwyniup b Jkpuywhynud hpkug punpnipyudp hwtdul) ipqus tpkp®
«dhqhlju», «Rhthwy, Thiuwpwinipjni» dpgnipughtt puuinipjnitubphg tpyniup/




Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbkin/wyn pynudl nrudw
Yugh dwutwqhwnipjniup dpgntewihu ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp
np uwn. us hwgq. n

np

uwn.

us

54 |6Yypwuhw dhowqquiht hwiwuwpwu
435 ppwywghwnnieintu {1a(q) <dM(q) Owy(q) 25 280
436 Pwuwp |Ggnt b gpwlwunieiniu (wugtpbu, $pwuubptu, Owj(p) Owy(q) {g(g) 30 280
abpdwubpbu)
437 Mwnwywpnud U(q) <1a(g) Owy(q) 27 280
Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbkin/wyn pynudl nrudw
Yugh dwutwghwnyejniup dpgnipwihu ng Unpgnipwiht {wuytwp{ win pyYnud | Jdwpnyh Jwpap

hwq. n

np

Gplwup "UWuwupw Chpwlwgh" dhowqgwjht
hwpwpbpnieyniuubph hwdwjuwpwu

uwwn.

us

55 |Gplwup "Pumbphuqu” [Equghnwlwu hwdwuwpwu

439 Pwuwn [tgnt b gpwlwunipinitu (wug bptu) Owy(p) Own|(q) {1a(q) 20 260

440 [dwnpgiwuswlywu gnnpd Ouwni(p) Own|(q) {1a(q) 20 260
Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnpyw nbtin/wyn pynudl nrudw
Yugh L\'wuhwqhmmpjm’un dpgnipwjhu ng dpgnipwiht jwudwp| win pYnw | Jéwpnyh I{wpan

hwq. n

444

U howqgquwijht inunbuwlwu hwpwpbpnieyniuubp

<1a(g)

Owy(q)

180




Owd-
Yugh
np

Pnthp,
dwutwghwnyejniup

Cunniubnejwu puunyeyniuutpp

dpgntewjhu

ng Upgnipw)hu

wuybwp

wyn. pynud

uwwn.

Yéwnnyh
us

Cunniubnipjwu wmbn/wyn pYnid| ntudwu

Jwpdp
hwq. n

np

uwn.

us

57 |Gpbwup gnpéuwlwu hnqbpwunipjuwu b unghninghwjh
"Nipwpunt” hwdwjuwpw
445 Kngbpwunipjniu U(g) {|g(q) Ow|(g) 40 200
446 Unghwjwywl wouwwnwup U(q) Owy(q) <a(q)* 30 220
Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnpyw nbkin/wyn pynudl nrudw
Yugh dwutwqghwnipjniup dpgnipwihu ns Upgniewiht fwuySwp| wyn eynd | yéwpndh | upép

hwq. n

np

Gplwup gyninuntnbuwlwu hwdwuwpwu

uwwn.

us

59 |6plwup Ubkupny Uwywnngh wujwt hwdwpuwpw
453 Kuwyng (tignt U gpuilutinieniu <1a(p) <la(q) | Owyfq)*™ 25 180
Yywd
<dM(q)*
455 Jwulwywnpdnipgyniu b hngbpwunieiniu {1a(q) Owy(q) Y(q)** 25 200
456 [Jwulhwdwnpdnieiniu b dbpnnhlw {a(q) U(g)*™ 25 125
459 Utindhu (nniphqu) Ug) ywd | <a(@) | Owy(g) 24 200
<dMN(g)
Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbtin/wyn pynudl nrudw
Yugh dwutwqhwnipjniup dpgntewihu ny Ungniewiht jwudswp(wn pYnw | Yéwpndh | updp

hwq. n

463

K wgh, hpnpwytntup W dwlwpnup wpnwnpnyejwu nbluuninghw

£(q)™ Ywu
D(q)™

{19(q)*

150




Owd-
Yugh
np

Pnthp,
dwutwghwnyejniup

Cunniubnejwu puunyeyniuutpp

Cunniubnipjwu wmbn/wyn pYnid| ntudwu

dpgntewjhu ns dpgntewjhu

wuybwn{win pynd | déwpndh | upép
uwwn. us hwq. n

np

61 |Gplwuph Unjubu lunpbuwgnt wujwt hwdwuwpw
464 pudbnpdwwnplw b Yhpwnwlwt dwebdwnhlw U(g) S(g)** g(aq)* 24 195
466 Kwjng tgnt U gpwlwunipintu {1g(p) {a(q) Ouwy(q)** 30 195
Yywd
<dM(g)*

468 Jwulwywndnieiniu b dbennhlw {1a(q) U(g)*™ 28 135
Owd- Pnthp, CLunniubnipywu puunipyniutbkpp Cunniubinipjwt wbn/wyn pynud| nrudw
Yugh dwutwqhwnipjniup dpgntewihu ny Ungniewiht jwdswp(win pYnw | Yéwpndh | updp

Uwn. us hwq. n

np

63 |dwpnbupuh dwulwyjwpdwlwu huumpwnnwn
474 Muwuwdnip)nLu {dMN(q) [Owi(q) ywd| <a(g) 25
CN(q)
477 Jwuywywnpdnipniu U dbpnnhlw {1g(q) U(g)** 23
Owé- Pnthp, Cunniubjnpyw puunysyniutiipp Cunniubnipywt wkn/wyn pynud nwudw
Yugh Jwubtwghwnniyniup dngnipwht ng Upgniewiht jwdswn| win pUnwt | Jéwpndh | qupdp

Uwun. us hwq. n

64 [Cwjjulwu pdrjulwu huunhwmnin
478 Pnidwlwu gnpd £(q) b(q) Y(qg) <a(q)* 24 350
479 Uwnndwwnninghw £(q) b(q) Y(qg) <a(q)* 17 350

/ Yhunprubpht hpwyntup E Jkpuwywhynud hpkug punpnipjudp hwbdub) wows kptp' «dhqhluw», «Rhthwy, Ihiuwpwiinipini» dpgnipughtt puunipjniiubphg tpyniup/




Owd-
Yugh
np

Pnthp,
dwutwghwnyejniup

Cunniubnejwu puunyeyniuutpp

Cunniubnipjwu wmbn/wyn pYnid| ntudwu

dpgntewjhu

ng Upgnipw)hu

wuybwp

wyn. pynud

uwwn.

Yéwnnyh
us

Jwpdp
hwq. n

np

Gplwup EYynpnghwph, munbuwghwnnipjuu b hpwyniuph
hwjuwlwu hutunhwnin

uwn.

us

67 |Gpbwup $huwtiuwpwiyuwihtt b pnpuwwyuw hwlwuwpwu

495 [bhuwuuubp U(q) <la(q) Owy(q) 20 180
Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbkin/wyn pynudl nrudw
Yugh dwutwghwnyejniup dpgnipw)hu ns Upgnipwiht [wuyGwp|wn pYnd | Jéwpndh | qupép

hwq. n

72

Gplwup "Unipp BhpEquih wujwu hwdwpuwpwu”

496 Eyninghwlywtu phdpw (Puwwwhwwunyeniu b puoginwgnpdnid) £(q) Y(q)** Yud g(aq)* 20 180
$(q)™
Owd- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbkin/wyn pynudl nrudw
Yugh dJwutiwghwnieyniup dpgniewjht ny Ungnipwiht [wuybwp|win pUnw | Jéwpndh | upép
rp U, us hwq. n

511 Uwnndwwnninghw £(q) b(q) Y(qg) {a(q)* 19 300
512 Mwnwywpnid U(g) <la(q) Owy(q) 20 200
514 Pnidwlwu gnpd™** £(q) b(q) Y(qg) {a(q)* 15

/<Uunndwwnninghwy, «PFniduljutt gnpé» b «tnugnpdnipiniy dwutwghwnnipjniiubph nphudnppubpht hpwyniup £ Jepuyywhynud hpkug punpnipjudp hwudub) upgws Eptip®
«dhqhlju», «Rhtvhwy, Thiuwpwinipjni» dpgnipughtt putinipjnitubphg tpyniup/




Owd-
Yugh
np

Pnthp,
dwutwghwnyejniup

Cunniubnejwu puunyeyniuutpp

Cunniubnipjwu wmbn/wyn pYnid| ntudwu

dpgntewjhu ns dpgntewjhu

wuybwn{win pynd | déwpndh | upép
uwwn. us hwq. n

73 |nbquwanpp "Ghwnbihp" hwiwpuwpwu hhpduwnpwd
516 [Mwundnipniu*** {dMN(q) [Owi(q) ywd| <a(g) 25
CN(q)
517 ppwywghunnugniu™** Qa(a) | £dM(g) | Owy(q) 25
518 Kuwyng (gt U gpuljwtinizgniu™*= <19(p) {a(@) | Owy(q)™ 2
Yywd
<dN(q)*™"

519 Puwuwp |bGgnt b gpwlwunyeniu (wugtpbu [Ggne)*** Owj(p) Owi(q) {g(g) 25

525 Jwuywywndnipniu b dbpnnhlyu*** {|g(q) U(g)** 25
Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbkin/wyn pynudl nrudw
Yugh dwutwghwnyejniup dpgnipwjhu ng Upgnipwiht {wuytwp{ win pyYnud | Jdwpnyh Jwpap

Uwn. us hwq. n

Ubhpwpjwuh wujwu pdrjulw hpuunpwnnin

75 |L. Oppbint wujwt hwdwjuwpw
534 [Hanwagnpdwlwu phdhw*** £(q) Y(gq) Ywd <a(q)* 20 175
S(g)
Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnpyw nbtin/wyn pynudl nrudw
Yugh dwutwqhwnipjniup dpgntewihu ny Ungniewiht jwudswp(win pYnw | Yéwpndh | upap

Uwn. us hwq. n

566

Uwnndwwnninghw***

L(q) b(q) 4(q) <1a(a)*

20 250

/thunpnubpht hpwyniup E ykpuwwhynud hpkug ptnpnipyudp hwtdul) ipdws tpkp® «dhqhlw», «Rhdhw», «Ghtuwpwnipiniy Upgnipwht putnipenibitinhg kplniup/




Owé- Pnthp, Cunniubiniypjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw

Yugh dJwutiwghwnieyniup dngnipwh ny Ungniewjht jwudswp(wn pYnw | Yéwpndh | updp
np ii ‘Umm. us hwgq. n
77 |5ypnywlw Yppwljwt mwpwswpowuwihtu wwnbtihw
hpduwnpwd
541 ppwydwghwnnieniu <dM(q) 9(g) 93 510
542 Uhowqguwjhtu hwpwpbpnyeniuubn <dM(q) {a(g) 78 450
543 Lbqywpwunigniu <lg(q) Owy(g) 74 450
545 Ubnyhu U(g) <lg(q) 83 450
546 [Mwnwywpnid U(g) {1a(q) 74 450
547 Jhowqquihtu inuwnbuwlwu hwpwpbpnipniututip U(g) <lg(q) 85 450
548 [Stntywwndwlwu wnbfuuninghwubp U(g) {g9(q) 173 450
Owé- Pnthp, Cunniubinipjw putunipyniuitipp Cunniubnipywt wkn/wyn pynid nwudw
Yugh dJwutiwghwnipyniup dpgnipwihl ns Ungniewht {wuybwp wyn eYnd | Jéwpndh | Jupdp

np ii ‘Umm. us hwgq. n

78 |6USU ynuiph dwutiwéynin

550 Ppwywghwnieiniu <dMN(q) {g9(q) 14
551 Uhowqgquwijhu hwpwpbpniejniuubp <dMN(q) {g9(q) 14
552 Lbqwpwunteniu Ow|(g) {|g(q) 13
553 Jwulwywpdnipiniu W hngbpwuniejniu {g9(q) Owi(q) 15
554 Unghw-dawyniewjhtu gnpdniubinyeniu U(qg) {g9(q) 14

34



Owé- Pnthp, Cunniubnipjw puunipyniuutpp Cunniubnipyw nbkin/wyn pynudl nrudw
Yugh dwutwghwnyejniup dnpgnipwjhu ng Unpgnipwiht {wuytwp{ win pyYnd | Jdwpnyh Jwpap
pp ii “Umm. us hwq. n

79 |6USU Ywuwdénph dwutwéjnin

559 Ppwywghwnieintu {dMN(q) {|g(q) 13

560 Lbqwpwunip)niu Ow|(q) {|g(q) 14

561 Jwulywywndnieiniu b hngbpwunye)niu {g9(q) Owi(q) 14

563 Mwnwywpnud U(g) {|g(q) 14

564 Uhowqgquwjht tnunbuwlwu hwpwpbpnieyniuubp U(g) {g9(q) 15

Owéd- Pnthp,
Yugh dwutwghwnipyniup

80 (6USU Gwywnh Jwutiwéjnin

Cunniubnyejwu puunyeyniuubpp

Cunniubnipjwu wmbn/wyn pYnid| niudwu

dpgntewjhu ns dpgntewjhu

wudswnwyn eynw | yéwpndh | uipap

np ii “umm. us hwq. n

569 ppwywghwnieiniu

<dM(q) | <a(a)

***_ ng whwnmwywu pnthh shwjwinwpdwgnywd dwutiwghwnniintu

35




